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 1. Solve for x and represent your answer on a number line. 
 
  (a)                                (b) 3 25 3x − > x − >                              (c)  1 4x + >
     
  (d)                               (e)  3 72 5x + ≤ 2 1x + ≥                               (f)         9 2x + ≤
 

  (g) 
3 9

3
x −

>                                 (h)  
2 5 6

2
x +

≤                             (i) 
3 1 10

5
x +

≥  

 
 

2. For each number line describing x write down the inequality. 
 

  (a)           (b)            (c)               (d)  
 
 
     

 (e)           (f)             (g)                (h)         
 
 
 

 (i)            (j)             (k)                (l)   
 
 
 
3. Solve for x. 
 
  (a)                           (b) 36 3x≤ + < 9 52x≤ + <                         (c)   4 1x≤ + < 7
     
  (d)                      (e) 3 2 1 5x− < + < 1 2 6 8x− < + ≤                     (f)        6 3 2 8x− ≤ + ≤
 
  (g)                     (h) 7 2x− < − ≤ −5 6 3 2 10x− > + ≥ −                (i)  8 6x− ≤ + ≤ 8
 

  (j) 
2 15

5
x +

< ≤10                     (k) 
16

3
x 24−

≤ <                        (l) 
3 48 1

4
x −

≤ ≤ 6  
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 1. 

  (a)            2x >         (b) 1
32x >           (c)     3x >    

     

  (d) 1
21x ≤ −              (e)     2x ≥ −        (f)   7x ≤ −       

 

  (g)         30x >          (h) 1
23x ≤          (i) 1

316x ≥    
 

2.  
  (a)                               (b)                         (c)                   (d)  4x ≤ 6x ≤ 7x > 4x >
     
  (e)                     (f)                 (g) 2 x− ≤ < 7 2 51 x− ≤ ≤ 3 x− < ≤          (h)        3 7x< <
 
  (i)                               (j)                        (k)                 (l)   3x < 9x < − 2x ≥ − 15x ≥
 
3.  
 
  (a)                              (b) 13 x≤ < 6 3x≤ <                        (c) 3 6x≤ <  
     
  (d)                          (e) 2 x− < < 2 1

23 x− < ≤1                 (f) 2
32 2x− ≤ ≤       

 
  (g)                        (h) 5 x− < ≤ −3 2

32 x− > ≥ −4              (i) 14 2x− ≤ ≤  
 
  (j) 1

212 24x< ≤                     (k) 19 73x≤ <                    (l) 2
312 22x≤ ≤  

 
 
 
   
     

 
 


